o0 OO0 IIon #30 2003-10-14 00

3.3 DOO0bOoOoOobOoOo0oboobod

00 3.6 400000 (rank) 0000000A=(a;;) 0 (m,n) 0000000000000

000000000 e;=(a;) 000000 ADDOODOOD @; 0000D00000000A=

(a1as---a,) 00000000000000 ;0000000000000 a*j=(a;;)0000
a*1

a2
00 A0DODODODODO e, D000COCOODODDODO A= . gbooobooaogaono

%
a o,

(1) 00 AODODOOOU0O0OOOOOOUOODO oDOOOOUOOD OOODO 1O00OOO 1000
O rank, (A) 00O OO

2) {a1,a2,-,a,}) 0000 10000000000000000 ranky(A) 0000
(3) {a*1,---,a*,}) 0000 10000000000000000 ranks(4) 0000
4) I(A)={ye K"| y=Az,x € K"} 000 dimI(A) O ranky(A) 00 0O

00 3.7 00 (1)D(2)OGE) 04000000
00 O Orankg (A) = ranky(A) = ranks(A) = ranks(A) 0000000000000 O0OOOO
0000 rank(A) 0000

O
0000000000000 000000000000000000Oranks(A) =ranks(A) 00O
gbooooboobooboboooobooooboooobobooo

E. O
A0:< O)DDDDD3.7DDDDDDDDDDDDDDDDDDDDDDDDD3.7

00 3.8 ranks(A) =ranky(A) 000D 0O0O

00 A=(ay),a; = (ai),e; =(0;;) 00000a; = Ae; 000a,; € 14,0000 Orank,(A) =
r0000ay,...,a, 0 10000000000000000ax(k>r)0000{ay,...,a, as} 0
100000000000 ag =pria1++0ka. 0000000000 00C0DO0 wely0000
w=awoa1+ +a.a.0000000000a;...,a,0 I, 0000000ranky(A) =dimIy =
r=ranks(A) 00 000w 000 e K"OOUO0O0OOw=Az0000x =x1€1+---+x,e,
goooooao

w = Ax=A(zie;+- - +a,e,) =x14€1 + - +x,Ae,
= z1a1+ -+ 290 + Tryp1Qr41 + 0+ Tpay
= may+- -+ vrar ++rep1(Bryniar + o+ Brgrrar) + o+ 2 (Barar -+ Burar)
= (@1 +zrp1Brrn o F Tafpr)ar + o+ (T + Bt Brprr + 0+ T Br)ar
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ranks(QA) = ranks (AP) = ranks(A)
ranks(QA) = ranks(AP) = ranks(A)

gboooog

00 O000000000ranks(QA) = ranke(AP) =ranks(A) 000000 Oranka(A) =70
000O0ay,...,a, 0 10000000000000000000 Qay,...,Qa,0 100000
000000 Qay+-+a,Qa, =0o0000 Q(aja;+-++aya,)=0000 Q7100000
000 a1+ +ara,=00000000 o =-+-=a, =00000 ranks(QA) = ranky(A)
0000000000 QUOD0 Q- '0000000D00 ranks(QA) < ranky(A) D000 O
ranks(QA) =rank,(A) DO0OOOO

AP=(b;---b,) 0000000 300000000000 0OOO

(1) P=P,(k,¢) 000

bl,...,bk,...,bg,...,bn:al,...,ag,...,ak,...,an

(2) @u(k;A) 000

by,...,bg,....b, =ay,...,\ag,...,a,

(3) Ro(k,l;) 0O 0O
by,....,bg,....by,.... b, =a1,...,a,...,0ar +ay,...,a,

(1),(2) 00000 1000000000000000000000 ranky(AP) = ranky(A) 000
000(3) 000000 ranke(AP) = ranks(A) 00000 Oranke(A) = r 00 {an@),- - @a@)}
010000000000a()=¢000 400000000 {ba)s---,ba(y} 0 100000
0 (000000)0000 10000000000000 @ 0000000000000a(¢)=1¢
000 (0000000 ¢ =r0000000000000({aa1):--s@ag_1),a¢} 01000
0000000, =a1aam)++ - +0r—18a(—1) 00000 00{baqy, -, bap1),bx} 0 10
000000000000ay,=aaamy 4+ +@—18a—1) 000000 {Baqry, - -, ba(r1), be}
010000000000 ranky(AP) 2 ranky(A) 00000 ay = —aby +b, 0000 a; O b,
0000D0000000000 ranky(AP) Sranky(A) 0000000000 0000 N

0037000 00350000 A0000000 Py,...,P,Q1,...,Q, 00000

A=Qs- QAP P

O O
ranks(4p) DO00OO00OO0O0O 3900000000000O0

E.
00pooooog 4 = < © )I:J 000 rank;(A) = ranki(Ag) = r = ranky(4g) =

ranks(Ag) = ranke(AP)) = -+ - = ranke (AP -+ Pi) = ranks(Q1 APy -+ P;) = - - = ranky(A)

000Oranks(A) 0000000000000 OK. 1
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00 3.10 A0 n0000000AQQODO (D0OUOUOUOO0)0D00000000O0O rank(A) =n
oood

T
oo A=(a; ... ap,), = : ooong
Tn
A000000 ay,...,a,0 100000000000 0Orank(4)=n00000x1a;+---+
rma, =0000000000000000 Az=0000 A-'00000000 A '4Ax=A4"10
OO0 z=000000
rank(A)=n 0000 a4,...,5,0 100000000000 ay,...,s, 0000000 K
0000000000 0000000O0 V0000000 24,...,2, 00000 b=z1a14+---+
r,z, 0000000 000000000 ey,...,e, 000000000004 (i=1,...,n)
0000000 bi,....b;, 00000 €, =bsa; ++bipa, 000000 B=(b;) 0000
0000O0O0ono E=BADDOOOOOODOOOO Boooo®Wo

goobg 3.3 bOOooobobooboon

1 2 3 45
1 01 01
2 0 2 0 a
1 01 0 b

MOOoD AB=FEOD0OOOOOOOOOO BA=EOO AB=EOOOOOOOOOOOOOOOOOO0O
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